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Q.No: 1 Which of the following type of practice is not related to the cultivation of fruits, vegetables, and plants?
2426898

P & 3 5 voR &1 quaur W, 9l sk Dt ot Bt & et e 82

Horticulture

A

Viticulture
B

fdieeR

Apiculture
C

Agriculture
D

Correct Ans : C

Subject : General Knowledge

Q.No: 2 Choose the correct statement from the following regarding Akbar’s rule.
2426922

AHR T I Tay H FEfied § X 98t o o1 97 )

There were 16 Subas.

A
16 gaT ¥
The Wazir looked after military organisation.
B
TR I TS BT TG B Tl
The Bakshi looked after the revenue administration.
C
T TSI VIR B T Tl
The chief 'Qazi’' held the highest position amongst the judges.
D

o el il wafer R waar ol
Correct Ans : D

Subject : General Knowledge

Q.No: 3 Select the false statement regarding 'Nalanda University'
2426942

e fayfaeme & ey 7 Tad $UT BT 997 Y

There were atleast 8 colleges built by different patrons.

A
Tt WRerp! ERT ST 7T H9 § B 8 Blaw I
It was originally set up by Sakraditya in 5th century AD.
B
TE 4@ T 9 5 of vraned S § wmica Rt e G wn an
There were atleast 10,000 students and teachers from different countries.
C
faftr 27 & &9 3 9 10,000 T IR Rigw A
D There were only two libraries.
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F9a 3§ g™ &
Correct Ans : D

Subject : General Knowledge

Q.No: 4 Choose the wrong statement about ‘Amuktamalyada

2426954
"SI b TR T el HU BT =TT BY
It is composed by Vira Narsimha Raya
A
Tg iR R I g1 R §
It is written in Telugu
B
Tg g ® foran rn &
It explains how a king should rule
C
Tg ST & b ST B H A FAT R
Amuktamalyada translates to "One who offered the garland after wearing it themselves".
D

SRR P IS "8 § P Qe 31 U & 916 A 3 IR
Correct Ans : A

Subject : General Knowledge

Q.No: 5 How many classical dances are there in India?

2427010
Rd ¥ e WIReE g &2
Five
A
LIEl
Six
B
EH
Seven
C
K6
Eight
D
313

Correct Ans : D

Subject : General Knowledge

Q.No: 6  Kaliyattam dance of Kerela is performed to praise goddess ?
2427022

IR BT PIGEEH TAGd 31 g & g e wma 22

Gauri
A

i

Kamakhya
B

DEET

Kali
Cc

Pt

Durga
D

g

Correct Ans : C

Subject : General Knowledge
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Q.No: 7 Who is the first men's ODI cricket captain of India?

2427508
URT F Ued T3 U fhdbe Fam S 8 2
Sunil Gavaskar
A
RS IGRIICES
Ajit Wadekar
B
el areHT
Bisan Singh Bedi
C
v fife ot
Kapil Dev
D
CIERkL

Correct Ans : B

Subject : General Knowledge

Q.No: 8 Lovlina Borgohain won a bronze medal for India in Tokyo Olympics, she is related to which sport?

2427527
Al et & waelt sReiie 3 HRd % g s Asa Sl 9 e da & geifa 82
Wrestling
A
it
Boxing
B
erpareit
Lifting
C
R
Badminton
D
Fsfifea

Correct Ans : B

Subject : General Knowledge

Q.No: 9  The Group of Twenty (G20) Leader’s Summit 2021 was held in which country?

2428893
7 i 1 (Sh20) dise wfte 2021 g 31 § smaford fovar mr w2
UsA
A
RUGH
Italy
B
el
UK
c
kg
Canada
D
FIST

Correct Ans : B

Subject : General Knowledge

Q.No: 10 Which of the following Terms is not matched correctly with games?
2430523

Frofifed & 4 SF W ug T & WY I FU A Ja T @ g2

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 3/37

Page- 3



A Boating - Cox

ST - Hlad
Badminton - Deuce
B
Ysfifer - =@
Billiards - Bogie
C
foftrads - st
Chess - Gambit
D

S - A
Correct Ans : C

Subject : General Knowledge

Q.No: 11 From where do NBFCs get their licenses?
2434053

R-3f foxfia Hufai ST agey Bef J U Bt § ?

Finance Ministry

A
fom Hamerm
Ministry of Corporate Affairs
B
FRURE H waTeT
SEBI
C
&
Reserve Bank of India
D

Correct Ans : D

Subject : General Knowledge

Q.No: 12 In which of the following places is the Tulsi Shodh Sansthan located in Madhya Pradesh?

2441042
T YR H gorll =y W Fufifea & § fr we w Ra g2
Bhind
A
fifs
Chitrakoot
B
forge
Omkareshwar
C
Eicarey
Chhindwara
D
Roearet

Correct Ans : B

Subject : General Knowledge

Q.No: 13 Mohammad Khan, the son of Shakkar Khan was a court musician of -

2441057
WA WH & YA A T@H & T WaIN] FddR 9 -
Raja Daulat Rao Scindia
A
T i 319 Riferr
B Raja Anand Rao Scindia
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1ol 31 9 Riftar

Raja Jayaji Rao Scindia

T Sl X9 Rifdran

Raja Madho Rao Scindia

e el 319 Rifdr
Correct Ans : A

Subject : General Knowledge

Q.No: 14 In which of the following districts of Madhya Pradesh is the Fair of Ramlila held?

2441079
nieg v & frmfefed & & farg o 7 welien 1 A @ 82
Bhopal
A
AT
Gwalior
B
TRER
Katni
C
P
Khandwa
D
gsar

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Which of the following tourist spots has earned the honour of UNESCO World Heritage Site?

2441358
Frofafea & 3 frg wien = 3 ! 3t Ry eRigR =T &1 TE fid e &2
Udaigiri
A
e
Bhimbetka
B
Afiaeast
Gwalior
C
IR
Chanderi
D
@28

Correct Ans : B

Subject : General Knowledge

Q.No: 16 Where is the Hoshang Shah Tomb located?

2441378
BRI MG &1 Heba1 el Ud 82
Burhanpur

A
TEAR
Mandu

B
Hig

c Hoshangabad (now Narmadapuram)
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Correct Ans : B

Subject : General Knowledge

Q.No: 17  Who is the chairman of Cabinet Committee on Investment Promotion (CCIP) in Madhya Pradesh?

2441650
T e § Biy-e BA 3T gatee wHne (.t omg.d) & arme B 7
Finance Minister
A
fom dh
Governor
B
RIS LI
Home Minister
C
ug At
Chief Minister
D

Correct Ans : D

Subject : General Knowledge

Q.No: 18 Avantee Mega Food Park is situated in which district of Madhya Pradesh?
2441659

St FM S urd e yoR & for R F fRua 72

Ujjain
A
I
Dewas
B
Gl
Mandsour
C
HedR
Khargone
D
T

Correct Ans : B

Subject : General Knowledge

Q.No: 19 Madhya Pradesh is the oilseeds-producing state in India.
2441672
T FRT HRA & forre Seae® I B
largest
A
T T
second-largest
B
T T T
third-largest
C
EEHEEEEN
fourth-largest
D

T T T T

Correct Ans : A
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Subject : General Knowledge

Q.No: 20 Government of India took over controlling interest of nepa mill in year -
2441686

YR WHR 7 a4 T i & Ao s 1 duTen

1947
A

1947

1952
B

1952

1958
C

1958

1962
D

1962

Correct Ans : C

Subject : General Knowledge

Q.No: 21 nfarch the following: water-borne disease.

2422818
1 Polio A Vibrio vulnificus
2 Vibrioillness | B Polio virus
3 Botulism C Clostdium botulinium
Faferiad &1 e SIS - Sa s 4|
1 qiaT A fafagr afeafeaa
2 BfEardaT | B qrfedaT ar g
3 | gefew [§ FATLITITH FIgier s
1-B,2-C,3-A
A
1-B,2-C,3-A
1-A,2-B,3-C
B
1-A,2-B,3-C
1-B,2-A,3-C
C
1-B,2-A,3-C
1-A,2-C,3-B
D
1-A,2-C,3-B

Correct Ans : C

Subject : General Science

Q.No: 22 What ratio of the earth is covered with water?
2422836

ot &1 faT 3Urd Ut & angd 2?2

3

3

T
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win

Correct Ans : A

Subject : General Science

Q.No: 23 River Yamuna is getting polluted because:

2422837

A 7t gl B 3 & ifn:

Sewage, industrial effluents and garbage
A

3, Sheifie S ok e’

Drinking, washing, gardening
B

9, 4R, SETaE

Bathing, pre-sewage treatment, drinking
C

M, - SuER, TR

Chlorination, vaccination
D

Engicaulccacay
Correct Ans : A

Subject : General Science

Q.No: 24 HIV was first reported in an African species of

2422999
TERdl el AR 1 U et wenr # Reelré fopan e aml
Pig
A
R
Dog
B
k3l
Monkey
C
TR
Human
D
$HH

Correct Ans : C

Subject : General Science

Q.No: 25 What is the uncontrolled and abnormal cell growth in the body called?
2423003

TRR F ST SR M HIRGT 9IS B T Tl Wil 32

Rabies

A
kein]
HIV

B
T @
Cancer

c
FW
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Diabetes

nyiE

Correct Ans : C

Subject : General Science

Q.No: 26 In which country, 80% medicines used are generic?
2423021

g 3 H IuERT 3} 1 41l 80% <aNd SR 87

Indonesia
A

S

Mexico
B

g

America
C

ARt

India
D

HRd

Correct Ans : C

Subject : General Science

Q.No: 27 Which legs are used by the insects out of the three pairs of legs to take a jump?
2428014

A SN T & § A gRT TarT A & e fa 9 o1 FugnT faar s g2

hindlegs
A

fesdm

forelimbs
B

BRI

middle limb
C

[ 3T

front limbs
D

A & o

Correct Ans : A

Subject : General Science

Q.No: 28 Which one of the following is the characteristic feature of phyla thallophyte?
2428027

Frofifea & @ oF-o s dawse o s de g2

simple body
A

A TR

roots present
B

WS e §

flowering plant
C

T O

true leaves
D

TRdfaS oo
Correct Ans : A

Subject : General Science
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Q.No: 29 Check the odd one out:

2428781
faww 9 wifa &Y
Unicellular eukaryotic organisms
A
TR IRE gHivaes ST
Fungi
B
Eca
Algae
C
Sara
Pine
D
s

Correct Ans : D

Subject : General Science

Q.No: 30 Bryophytes possess :

2428813

PR F UN §:

plant body is gametophytic.
A

T &1 TR gHPIEE B

plant body is sporophytic
B

o &7 xR demfeg 81

true stems and leaves are present.
C

T T iR T A B

they are vascular plants.
D

3 Fagt A §)

Correct Ans : A

Subject : General Science

Q.No: 31  When sunlight falls on solar cells, the energy from the sun is converted into:

2429006
e G BT ISR IR ¥@ W IS 8, T 39 IRafid St ol o
Mechanical Energy
A
it et
Thermal or Electrical Energy
B
yifa a7 fagga et
Nuclear Energy
C
TRENY e
Gravitational Energy
D

TEAHYO SHe
Correct Ans : B

Subject : General Science

Q.No: 32 in water bodies produce toxins which decreases the suitability of water for human use.

2429020

R A § 319 IS BT aegail AR AR (se) T A F B F uRad= Ta €2
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A Algae growth

et g
Aquatic weeds
B
Sefid WRUdEaR
Cyanobacteria
C
REREES i
Blue green algae
D

A R o
Correct Ans : A

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429023 the correct answer to the question from the given options.

Assertion (A):Encouraging the use of CNG, LPG for public transportation.

Reason(R) :CNG contains methane, which combusts more cleanly than other fossil fuels.
& fpfafed uy & & FuF § o 8 1 &1 i@y ofR g B "SR F TU F TG 601 T §1 AUDT 37 S HUAl I TUHIGES offd B ¢ iR U U fased! & & vy &1 9 S|
AABHYF(A): Tdoa ufag & e Jreeht, Tadich & Iwn o dired S|

HRU (R): Qeon & H27 g1 8, S 39 S $ue @ go 3§ 31l i J <5 a8

Both A and R are true

A

T IR R it W ¥

Both A and R are false
B

T 3R 3R GFl 3 §

A is true but R is false.
C

T 9 § A IR e B

A is false but R is true.
D

T 3 8 A o W 1
Correct Ans : A

Subject : General Science

Q.No: 34 __ s added in LPG to detect its leakage as the LPG is odourless.
2430057

399 9 &7 gar @ $ g vadish Torera STaT € @4ife el g g ®1

Mercaptan
A

e

Nylon
B

T

Polymer
C

TiRR

Butane
D

e

Correct Ans : A

Subject : General Science

Q.No: 35
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2430086 Which type of fuel does not produce pollution on burning?

T TR T $H STA § Wyl el g 87
Solid fuels
A
LIRS
Liquid fuels
B
o d
Gaseous fuel
C
_ftw §im
Stream fuel
D

e
Correct Ans : C

Subject : General Science

Q.No: 36 From the given statement solve the following question
2422455
In a family there are seven members P, Q, R, S, T,U and V.
R is the sister of U
Q is the sister of T’s husband
S is the father of P and grandfather of U
P is the husband of T

There are two father’s, two brothers and a mother in the family.

How T is related to U?

fow T A 9 e vy B ga B
TH RAR AT TGP, Q, R, S, T, USIRVEIR UBITEAEQ, TH U BI TGI8 S, P I e € 3R U. SIS § P, T 31 Ul § URGR & 31 firelr, < o ofR ueb o g1
T, U X {59 TR Fefla &2

Daughter

EGk)
Mother

ot

Father

Aunt

arh

Correct Ans : B

Subject : General Reasoning

Q.No: 37 Diana, who is Jonny’s daughter, say to Kyra, “Your mother Kate is the youngest sister of my father, who is the third child of Max.” How is Max related to Kyra?
2422477

ST, S S B 4 R, HraR1 § Hedt B, "G A e B R t 9ed SI1A) 8 7, St Aow 1 Al Wam 21 fiew o 4 $9 gt €2

Uncle
A

T

Grand Father
B

gt

Father-in-law
o

'
D Father
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ot
Correct Ans : B

Subject : General Reasoning

Q-No: 38 Find the wrong term in the series?

2422590
7,14, 22,31, 41, 51
gl H T SH ST T ame?
7,14, 22,31, 41,51
31

A
31
41

B
41
51

[

51
22

D

22

Correct Ans : C

Subject : General Reasoning
Q.No: 39 Find the wrong term in the series?
2422610

3,6,5,20,7,42,9,70

4@ H TTAd HH HI g1 AE?

3,6,5,20,7,42,9,70

42
A

42

5
B

5

70
C

70

9
D

9

Correct Ans : C

Subject : General Reasoning

Q.No: 40 Find the odd word out.

2424518
S ez, T T Bt
Asia
A
TRmr
Australia
B
siRgfern
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[ South Africa

SR Siptet

Antarctica

Sferb et

Correct Ans : C

Subject : General Reasoning

Q.No: 41 Find the number of triangles in the given figure.

2425649
l\
{
9 3pid | Byw 3t T 1 i
l\
{
28
A
28
29
B
29
27
C
27
30
D
30

Correct Ans : D

Subject : General Reasoning

Q.No: 42 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426296

NUMBER : UNBMRE :: GHOST : ?

I HeR-THG PT 704 PY Ol AR HeR-THE & I YR Tefd 3 S ORI 31eR-TWE, TS 3ier-Oyg § Tufia 21
NUMBER : UNBMRE :: GHOST : ?

HOGST
A

HOGST

HOGTS
B

HOGTS

HGOTS
C

HGOTS

HGSOT
D

HGSOT

Correct Ans : D

Subject : General Reasoning

Q.No: 43
2426396
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S e - - e - = e

Select the option /number which is related to 3/ number in the same way as 28 number is related to a
1t number?
42:72:110:?

30 TEAT /RweT & 99a Y S SOl TEH  3H TR FEd § S gul TE qgelr
HEaT ¥ HeOT §

42:72:0210:?

121

121
132

132
143

143
156

156
Correct Ans : D

Subject : General Reasoning

242%44:7 Select the option /number which is related to 3t number in the same way as 224 npumber is related to a
1st number?
32:1348xy:?

3H TEAT /Reed & 99 H{ S A GET 8§ 3H YR Jad § S8 g §ET Tger
T ¥ geEfea &

32:134Xxy:?

Xy

x2 +y?

X+y

X+y

x3+y3

x3+y3
Correct Ans : B

Subject : General Reasoning

Q.No: 45 How many people uses both blue and black Pen but not red Pen?
2426561

Q =People uses red Pen
A= People uses blue Pen

D = People uses black Pen
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A SO ‘SR R RG-S M ST S SEAC IR S S e e 4

fpaa AT A 3R B S OF BT TN X € Qe At O b1 Tgi?

(::) = T el Feld T I9ART R &
ZCX=WW#WQHHHKWWHRH§

[ | = #rehr domt &1 geaem ad §

15
A

15

a4
B

a

7
C

7

8
D

8

Correct Ans : D

Subject : General Reasoning

Q.No: 46 In the given diagram, Circle represents Nurses in a Hospital, Triangle represents trained and Rectangle represents experienced.

2426606
7
y\1
2

8

Find the total number of trained and experienced Nurses or both?

e MU s ®, g6 Ue sRgara i &1 wlifiia exar 8, Bys vt o1 sfafifta s 8 iR emad sigydt @1 wfafiica aear g1

7 jX1

8

URIfE SR ergudt 1 a1 G Ft Ha e JIa Hifoe?

4
A

4

14
B

14

10
C

10

7
D

7

Correct Ans : B

Subject : General Reasoning

Q.No: 47  Select the option that is related to the third term in the same way as the second term is related to the first term.
2429537
AEFG : DCIE :: JMPR : ?

I fAwed &7 77 Y o fieR 75 ¥ I} YR el § O gOI 9% Ued Ug @ eifda B
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AEFG : DCIE :: JMPR : ?

MKSP
A

MKSP

MISP
B

Mlsp

MSKP
C

MSKP

Msip
D

Msip

Correct Ans : A

Subject : General Reasoning

Q.No: 48 Ppointing towards a girl, a boy said “she is the daughter of the only son of the mother of my aunt. How boy is related to the girl ?

2429576
T A5 A SR IR A §U, T A5 T ol 96 A A< Y 6 F g T AA ¥ 9 5T W A5 W H waftw g2
Brother
A
uré
Nephew
B
it
Uncle
C
EIEl
Son in law
D
A

Correct Ans : A

Subject : General Reasoning

Q.No: 49 Which answer figure will complete the pattern in the question figure?
2433198

P IR PR IR Pl F U 1 gt pifte

?
A
B
¢ 7
https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 17/37
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Correct Ans : D

Subject : General Reasoning

Q.No: 50 Identify the figure that completes the pattern.

2433494
?
I NPT BT TgaH B W Yo 3 g7 Belt B
?
A
B
c
D

Correct Ans : A

Subject : General Reasoning

Q.No: 51  Select the option that is related to the third number in the same way as the second number is related to the first number.
2434889
5:30::7:7?
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I fached &1 g7 ¥ o diedt I @ It usR Teid § o g o, upd! o @ el 21
5:30::7:7?
78

78
32

32
42

42
70

70
Correct Ans : C

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440183 |ggically consistent with the main statement.

When you speak truth, you feel peace
A. You spoke truth

B. You felt peace

C. You did not speak truth

D. You did not feel peace

Ru e vy ¥ 9B T IR SF 918 IR FUA § FUA 1 BT g g, T87 v B 31 ared @R F>F 3, 9K &) HuF @ifhe FU F gey $yF 9 3
T 30 T S & T ST A BT M Sl §

A. 307 < Sl

B. 310 Wifdl TegH B

C. 30 ¥ TeI |

D. MU i BT ST Tal g

AB

AB
BA

BA
DA

DA
CcD

cb
Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440215 |ggically consistent with the main statement.

If pollution increases, there will be hazardous effects.
A. pollution increased

B. pollution did not increase

C. there were hazardous effects

D. there were no hazardous effects.

T Y vy # 4B F IR SUF T8 IR FUA §| FUA B BT W Y, Tl U B B aed TR B I 3, 3R ) HuF TS T Y g8 HYF I I
afe; TEu Tgd1 §, A GORAS YU g1
A. TG 75T
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B. TGN el wgT
C. TaATd UHig &

D. B TaxP UUTd el &

AC
A

AC

BC
B

BC

DA
C

DA

CcD
D

cD

Correct Ans : A

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440262 |ggically consistent with the main statement.

If he gets selected, he will be an officer
A. he got selected

B. he did not get selected

C. he will be an officer

D. he is not an officer

Ru e vy ¥ 9B T IR SF 918 IR FUA § FUA 1 BT g g, T87 v B 31 ared @R F>F 3, 9K &) HuF @ifhe FU F gey $yF 9 3
IfE BT I 2 1 2 o a8 SHRERT

A. ST T8 5 T

B. 31 TG 7181 goll

C. T T USRI &

D. 9% 3R 78 §

AC

AC
BC

BC
DA

DA
CcD

cb
Correct Ans : A

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.

2441956
MQ:O:nEL:?
I4 fade &1 707 B o diR Ue § S TR el § ford TR gERT U Ugd Ug § afd § |
MQ:O:El:?
F
A
F
B H
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E
C

E

G
D

G

Correct Ans : D

Subject : General Reasoning

Q.No: 56 g ify: 22+ —65+
2422340 Simplify: 22 + (18 -65+13)

WA B 22+ (18— 65 +13)

35
A

35

34
B

34

49
C

49

36
D

36

Correct Ans : A
Subject : General Maths

Q.No: 57 - Simplify: 70 - [§ + {9 +3(10-2
Sasazes wmplify:70-[8+{5+3(10-2)j]

A B 70- [8 + {9 +3(10 - 2)}]

29
A

29

26
B

26

28
C

28

-25
D

-25

Correct Ans : A

Subject : General Maths

(22;"\‘203:6%82 Find the compound interest on Rs. 1860 at the rate of 5% per annum for 1% years when interest is
compounded half yearly.
1860 39 @1 1oad & R 5% 9y af f ¥ A HfE w WA A S| s ik
aiffe &7 § FAfera foar arar &1
Rs.149.1234

A
Rs.149.1234

B Rs.293.1825
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Rs.293.1825

Rs.234.6511
C

Rs.234.6511

Rs.185.3621
D

Rs.185.3621

Correct Ans : B
Subject : General Maths

Q.No: 59 Find the compound interest on Rs.9710 for 9 months at 24% per annum compounded quarterly.
2423617

9710 TUA BT 24% Ui BT &R 9 HEN BT Aehgig SISl T BT, A <A JATIS 27 1
Rs.2312.89011

A
Rs.2312.89011
Rs.1854.76536
B
Rs.1854.76536
Rs.8213.23456
C
Rs.8213.23456
Rs.9641.15761
D

Rs.9641.15761
Correct Ans : B

Subject : General Maths

Q.No: 60 Solve:
2428582
[56Xx6-55+5+11.55-(7.8x2+24x%x3-8.90f2-5.4x 2)]

kT

[56x6-55+5+11.55- (7.8 x 2 + 2.4 x 3 - 2&18.9 - 5.4 x 2)]
49.75

49.75
49.85

49.85
49.68

49.68
-49.68

-49.68
Correct Ans : B
Subject : General Maths

Q.No: 61 The average age of 20 players of a football team is 24. The average of 8 of them is 21. What is the average age of the remaining 12 players?
2432523

TF Peaia AF & 20 Refed ot oivrd omrg 24 §1 8 o7 ofwdd 21 §1 AW 12 fRanfsdl #t sivwa g « 32

26
A
26
28
B
28
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22
30

30
Correct Ans : A
Subject : General Maths

Q.No: 62 When subtract 3pq (p - q) from 2pqg (p + g), what will be obtained?

2434688
3pq (p - q) &1 2pq (p + q) A T ST §1 < gRRom e
-p’q+5pq?
A
-p’q +5pq?
-p’q-5p¢?
B
-p’q-5p¢?
pq + 5pq?
C
p’q + 5pq?
pq + 5pq?
D
piq +5pq?

Correct Ans : A
Subject : General Maths

Q.No: 63

2434738 x*. L _47, Galoo
x* then %
qﬁx"'-.»-:—q:ﬂ,a ><3+X—13=?
9
A
9
15
B
15
18
c
18
27
D
27

Correct Ans : C

Subject : General Maths

Q.No: 64

2434768 Simplify: (044 +011)x3

30.037

(0.44 +0.11)x 3

ﬁmﬁﬁ;aaﬁ——m WP DI

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx

23/37

Page- 23



12

12
Correct Ans : B

Subject : General Maths

Q.No: 65 The cost price of 21 articles is equal to the selling price of 18 articles. What is the gain or loss percent?

21 Fegait 1 4 ed, 18 TRgell & fIma e & IR 71 1 A1 g1 Ufa=id 1 62

2435213

13%
A

13%

11§ %
B

11§ %

162%
[of

162%

10%
D

10%

Correct Ans : C

Subject : General Maths

Q-No: 66 An book is sold ata fix price. By selling it atg of that fix price one loses 10%.

2435233 . .. .
Find the gain percent at original price.

T e R 7 R o ol § 1 g9 e 79 o 2 T maAf @l 10%
T I Bl 3| IR Hea R ATy WiRra F B

15%
A

15%

35%
B

35%

25%
C

25%

50%
D

50%

Correct Ans : B

Subject : General Maths

Lt £ _feAns Lt t
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T NrE LT 2 I e SR WA TS U R TRV R e e T < Veemp - 0T eyt - B IR TATR 0 ESLS Gand

Q.No: 67 LDEIE 15 PIOIIT OT 1U7o WIEN aIl ITem 1S 5010 3T O ITS SEUNg PIICE. WNATWill D8 Me percenmge
2435293 profiton Cost Price when item is sold atits selling price?

el et g 1 S fas T e & 2 & WITTOR ST ST €, il 10% 1T BIerl §1 59 Hrd W)
A=A 1Y JTeT DI o1 98 % {dshd Hed TR <l Siieil 8 2

32%
A

32%

30%
B

30%

26%
C

26%

28%
D

28%

Correct Ans : A
Subject : General Maths

Q.No: 68 0.000482 when expressed in scientific notation is

2437471
0.000482 H! X IIE T # aiftreqa fpan < it
481x10%

A
482x 104
4.82x 10+

B
4.82x10%

4.82 %10

c
4.82 x 10*

4.82 %103

D
4.82 %10

Correct Ans : B

Subject : General Maths

Q.No: 69 Ram received Rs 5100 from his father. He lost Rs1100 out of it. but his father sent him Rs 2300more, he then paid his dues medical bills of Rs 5000. then money left with Ram
2437491

M HY 3T T ¥ 510099 W gUIST 399 41100 FW @ Ry dfd 36& far 3 33 2300 T0d 3R A faw, R 397 500090 & AfEwa fadl o1 yrram fean @ ™ & oy o= [w Ay <

Rs.1200
A

1200 T

Rs.1300
B

1300 ¥

Rs.1170
C

1170 ¥

Rs.1330
D

1330 T3

Correct Ans : B

Subject : General Maths
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.No: 70 Y 2 .
84307551 Which fraction amougg, j: .g and Z is the largest?

31 2R A P TR T

A
2
3
4
9
B
P
9
5
6
C
5
6
1
3
D
1
4

Correct Ans : A

Subject : General Maths

Q.No: 71 Ifin a symbolic language ‘FORGET’ is written ‘DPPHCU’ then ‘DOCTOR’ will be written in the same language as?
2422540

g el idsfae U1 & * FORGET' 1 'DPPHCU’ frar =i @t 'DOCTOR' &1 34t wron # feran e forgd?

BPAUMS
A
BPAUMS
BPAUPS
B
BPAUPS
EMDRPP
C
BPAUPS
BPARPP
D
BPARPP

Correct Ans : A
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘SUMMER’ is written *"RUNNER’ then *‘WINTER’ will be written in the same language as?
2422570

g feht Tidsfas umer & 'SUMMER' 1 'RUNNER' férar &I @ *WINTER' &1 I vy ¥ feran smowm fort?

WALKER
A
WALKER
SUFFER
B
SUFFER
VIOUER
c
VIOUER
SUITER
D
SUITER
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Correct Ans : C

Subject : Mental Ability

Q.No: 73 In arow, A is 17% from left and B is 13th from right. When the interchange their position respectively.

2425588 Then A becomes 22 from left. Then what will be B’s position from right after interchanging.
T Ui A A ISR A 1791 § 9IR B A0 1381 §1 1 HU: ITHI UMY 1 S1H-UEH Sl §1 T A T Y 2241 € Sl §1 Al o H wewr F 4G I A B Rl o e
26
A
26
25
B
25
27
C
27
29
D
29

Correct Ans : D

Subject : Mental Ability

Q.No: 74 If PRATAP could be given the code number 1618120116, what code number can be given to NAVIN?

2426506
gf2 PRATAP @1 BIg T 1618120116 o ST Taval 8, @ NAVIN &1 B W @ls T &t o1 et 82
14122914

A
14122914
19274651

B
19274651
24639125

c
24639125
73957614

D
73957614

Correct Ans : A
Subject : Mental Ability

Q.No: 75 If the certain code, COVET is written as FRYHW, which word would be written as SHDUO?

2426536

Tfg fAf¥a Fs, COVET &Y FRYHW forar o 8, &t 319 91 21sg SHDUO & =4 & forar smamm?

QUAKE
A

QUAKE

REPAY
B

REPAY

STINK
o

STINK

PEARL
D

PEARL

Correct Ans : D
Subject : Mental Ability

Q.No: 76
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2430221 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statement: National steel Company has moved India from the position of shortage of self-sufficiency in the metal.
Conclusions:
I. Previously; India had to import steel.

II. With that speed; it can soon become the foreign exchange earner.

iR 9l &, <1 FuA & FisHd 1, 11 BT SR FRA § S1UST Gl SRl W AR B g1, 4 € F SHdR W 71d ael § welld g9 @il | o) e T e s & afe fsed 81 df 3t 99

Fy: uig H srafifar ot wift 3 Rufa |, wha seoa ot 3 wRd 1 T o )
Frepd:

L. Ug¢, HIRd B! T I ST HIAT gsdl il

I1. 39 TR & WY, 98 S 8 e 5o offe &7 w8

Only conclusion I follows

A
Paa FTepY 1 SR HRaT ¥
Only conclusion II follows
B
Faa Frepf 11 SrgERr aRar §
Either I or II follows
C
I A L AT LI SITER0T el
Both I and II follow
D

I 3R II ST SFTERY R &

Correct Ans : D

Subject : Mental Ability

Q.No: 77 In the following questions, two statements are given followed by two conclusions (I) and (II}. You have to consider the statements to be true even if they seem to be at varian
2430250 commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: About 20% of the animal by products of hair, skin, horns.. is edible protein. Indian chemists have developed a method of isolating 45% of this protein. They usec
enzyme developed in India to break down soya protein.

Conclusions:
1. Indians have not been able to develop enzymes.

II. Animal products protein has the same composition as the soya protein also.

Frofafaa wsif #, 31 & & 5 1, 11 37 R0 R § SMUD! GHI FYR W faaR HAT I, 4 § 9 MR W 1 qedt § wld g9 @il | aMmue g fu me S & afg fesd @ o 31 9um

FYT: T, ], W & ITET ERT THT 20% U Wi W § 1 HRAT R0 ¥ 50 W B 45% B e 339 31 0 Al Refig o1 71 39 S mid 3 digay & o uRa & Refia we t
SR fesani

Frp:
1. 4R e faefia 78 3= a8
11, U ITEl & W & T i & A & S gt 81

Only conclusion I follows

A
el Fepd 1 SRR AT §
Only conclusion II follows
B
o Frepd 1T SR dea §
Either I or II follows
C
18 L 91 1T SR Rl &
Neither I nor II follows
D

T 1 IR 1L IRV FRE §
Correct Ans : D
Subject : Mental Ability
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Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fro

2435463 ommonly facts and then decide which of the given conclusions logically follows from the given statements.
Statements:
1. All stags are rams.
IL. All rams are kites.
Conclusions:
I. Some kites are stags.

II. Some stags are kites.

13 T 7T vy # @ Fu IR IS g 3 s 1 R 11 T | Suet T T e oY e WA §, I18 3 W i aedl § A vl € 8, siue! fofg s § 6 e U et A @ de

frepd i T0 T SFTER0T HRa B
T

1. 9t fwor HeT €)1

11, 94t FeT e B

e

1. $© U fRu g

11. $% fexor dam §1

Either conclusion I or II follows.

7 FIShY X 7 X IR0l el 1

Neither conclusion I nor II follows.

T e 1 AR T 11 TR Fert B

Only conclusion II follows.

Had Py 11 SigeRvl Sl B

Both conclusions I and II follows.

ST s 1 &R 11 SrgERur FRa €

Correct Ans : D
Subject : Mental Ability

Q.No: 79 In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from commonly

2435523 |nown facts, read all the conclusions and then decide which of the given conclusions logically follows the given statements.
Statements:
All Guy are Boys.
All Boys are Men.
Conclusions:
I. Some Men are Guy.
II. No Men are Guy.

III. All Boys are Guy.

FR RE T Uy B $B A IR TAF 918 94 FYE W a1emid FE e e e ¥, geifes I am g il & fmar @ gdt 31w frsed 03 iR R Refia o 6 g e e @ fred, fn

FUT F SR W YR |
T

Tt 7T wsF 7

Tt 5% o &

s

1. $T oV g g

1. ¥ G 711 T 81

111, 3t 7% g g1

None of the conclusions follows.

B1g ot e argeRor 7 FRar 71

Only conclusion I follows.

Faa Frepd 1 SrTERY HYar B
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Only conclusions I and II follow.

Faa e 1 @R 1T TR FRd B

Only conclusions II and III follow.

e Frepd 11 3R 111 SfgERY o1a &1
Correct Ans : B
Subject : Mental Ability

(22;1'\;%5?6 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
Z>PP<M MXK]
Conclusions:
I.P<])
1.1 2z

fAFafafad T &, HUel & ag sy U 77w g

fET 31T Tl & AR R AHT T HeqqeT HY A HIT Fee) & F9 3 39Gad [q@med & 99 i
FYe:

Z>PP<M M<]

s

IL.LP<)

IL.1<Zz

If only Conclusion I follows

Fra Pl 1998

If only Conclusion II follows

Faa e 11 T §

If either Conclusion I or II follows

R I ga

If neither Conclusion I nor II follows

a1 RTR I TR

Correct Ans : A
Subject : Mental Ability

221'\:]308:58617 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
A< Z2P>R>T
Conclusions:
I.LT>2Z
II. Z >R

fFafafed gt #, Fu= & arg forad fgw o §)

TET 21T et & TR TR STy T Heraier ol 3R 379 TGN & &9 & 3949 e & aaet Hll
FUA:

A<Z2P>R>T

o

LT>Z

II. Z >R

If only Conclusion I is true

A
Fad ey 199§
If only Conclusion II is true
B
Faa Py 11 T
C If either Conclusion I or II is true
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If neither Conclusion I nor II is true

TR RS IITAR

Correct Ans : B
Subject : Mental Ability

8:13%58925 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
Zehen > Priya < Money < Jonny
Conclusions:
I. Priya < Jonny
II. Jonny < Zehen

AR 929 &, FYT & are, fvay fou 1w §)

U 1T el & HTUR W FASHY BT Heqdel i HT 397 Seal & &9 A 59gard famed &1 age H|
HU:

Zehen > Priya < Money < Jonny

forsad:

I. Priya < Jonny

II. Jonny < Zehen

If only Conclusion I follows

A
Faa i 199 R
If only Conclusion II follows
B
o ey 11 T &
If either Conclusion I or II follows
C
g s 1T I v R
If neither Conclusion I nor II follows
D

FAfsd 1 RS I va R
Correct Ans : A
Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f

2439082 5mmonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.
Statements:
Some devices are phones.
Some phones are switches.
Conclusions:
I. Some devices are switches.

IL. All switches are phones.

12 T T vy & &) Hua quT SUH Ud &) e 19T 11 R Y § | vl R T B B I AT § |, U € ag wdaid el & e vl 9 81 a1 Sl SR R ST SiuEl SR A E |

FU:
T SUD B 3
F% B &= §
ﬁ'ﬁﬂ&

1. $T UMY &4 g1
11. ot Rag wH 8

Conclusion I follow

e 1 SR FRar §

Conclusion II follows

sy 1T 3R el &

c Conclusions I and II follow
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epy 1 IR 11 TR0 IR &

Neither conclusion I nor II follows

T e 1 3R T H Y 11 TRy FRaT

Correct Ans : D

Subject : Mental Ability

Q.No: 84
2442669

Arrange the following words in a logical and meaningful order.
(1) Write

(2) Publish

(3) Author

(4) Reader

(5) Sale

Frafafed 2l 31 U i Ud srefyul w ¥ sqafld i
1. e
2. THRH
3. TP
4, U5E

5. fawa
3,1,2,54

3,1,2,54
4,3,1,2,5

4,3,1,2,5
3,2,1,5,4

3,2,1,5,4
1,3,254

1,3,2,5 4

Correct Ans : A

Subject : Mental Ability

Q.No: 85
2442678

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx

Arrange the following words in a logical and meaningful order.
1. Rajasthan

2. India

3. Jaipur

4. North India

5. Asia

Frafafed el 31 1@ @fd® @ sifgel w0 & srafla $ifm)
1SR

2.4Rd

3.59R

4.3 WA

5.TfRmn

1,3,2,4,5

1,3,2,4,5
1,3,4,2,5

1,3,4,2,5
3,1,24,5
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3,1,2,4,5
3,1,4,2,5

3,1,4,2,5
Correct Ans : D

Subject : Mental Ability

Q.No: 86  Which of the following is divisible by 5 and 2?

2427592

Frafafaa & 4 S 5 ok 2 & fausa 27

8955160
A

8955160

1165315
B

1165315

8765132
c

8765132

909587
D

909587

Correct Ans : A
Subject : General Aptitude

Q.No: 87 One angle of a pentagon is 140 degree. If the remaining angles are in the ratio 1 : 2 : 3 : 4, the size of the greatest angle is:
2431341

YIS $T TH 3 IO 140 A, AR sRa ora B0 1 : 22 3@ 4 % U & 3, A T &3 B0 51 AF I PIIC?

150°
A

150°

180°
B

180°

160°
C

160°

170°
D

170°

Correct Ans : C

Subject : General Aptitude

Q.No: 88 A and B are at a distance of1.7 km apart and they start running towards each other at a speed of 8 m/s and 9 m/s respectively. After how much time, will they meet each oth
2435977

A 3R B UH-gR 9 1.7 [l B g R § 3R T - @ R A ¢ 8 Wy iR 9 yF 3 fd A e & A 21 3 v T & W18 Uh-gER I rde

1 minute 4 seconds

A

1#a¥

1 minute 40 seconds
B

1740 ¥

14 seconds
C

14§

14 minutes
D

14 7

Correct Ans : B

Subject : General Aptitude
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Q.No: 89 A motor cycle gives an average of 45 km per litre. If the cost of petrol is 20/litre. Then the amount required to complete a journey of 540 km is (in Rs.)-
2436008

T Hiex Wb 45 . /eftex BT divra At 31 9l U8ka Ft Faa 20 vl e B, @ 540 . o aEn o A F fah i (@A) sraxawar gefe

120
A

120

360
B

360

200
C

200

240
D

240

Correct Ans : D

Subject : General Aptitude

.No: 90 . . . . s .
24306018 Walking at 3 of his usual speed, a person reaches his office 18 minutes late than the usual time.

His usual time in minutes is:

U At e WA aifer & 2 aifey WX e g e ey # W §A9 ¥ 18 e $8 @ wgean ¢ s
ﬁaﬁmmﬁaﬁ#mm%

60

60
54

54
72

72
45

45
Correct Ans : B

Subject : General Aptitude

Q.No: 91 A runs twice as fast as B and B runs thrice as fast as C. The distance covered by C in 72 minutes, will be covered by A in -

2436023
A, B P ge1 B SR a1 B, C 31 ada ofiF T 1fy & 4m T 21 U AR gt 9 aa 7 § ot ¢ 1 72 e @1 w8, o A g1 e T e R -
18 min.
A
18 .
24 min.
B
24 7.
16 min.
c
16 .
12min.
D
12 min.

Correct Ans : D

Subject : General Aptitude

Q.No: 92 Train A takes 1 hour more than train B to travel a distance of 720 km. Due to engine trouble speed of train B falls by a third, so it takes 3 hours more than Train A to complete
2436054 same journey. What is the speed of Train A (in km/hr)?
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720 5. gl T FA A TA A B A B Y gol # 1 Hel e et 21 o H TR M & HROT B 3 T TF (A5 S G e B o SH A D A TA A TTIB I AABI g@ A3 W ¢
T T ST A Pt T (.4 /eger B) @ anfie

80
A

80

20
B

20

60
C

60

70
D

70

Correct Ans : A
Subject : General Aptitude

(22;,'\;06:09736 A and B can finish a work together in 3§ days. C and D can finish the same work

in 32 days. If A, B, C and D do the work together, how long will it take for them to
finish half of the work?

A3t B e o 30 Rt o ww e €1 Calk O 3@ R A 37 Rt A qwowa
afg A, B, 3D v wry sy Frf R § oY oy I W qu w A 3¢ Fraer wHg @

1

1 = days
A

1

1R

8

oy days
B 8

Eﬂﬁ'

2

vy days
& 2

ey o=

11

= days
D 13

11
13

Correct Ans : D

Subject : General Aptitude

Q.No: 94 A can do a work in 7 days. B can do same work in 11 days. Rs.6966 is paid for the whole work. B's share will be? (in rupees)

2436126

A 5t F A 7 Rl F R Gopa 21 B I FE F 11 R H IR T 31 3T QR B & [T 6966 U BT YA a1 S g1 4l B F e v e (79 )

3709
A

3709

3257
B

3257

4257
c

4257

2709
D

2709

Correct Ans : D

Subject : General Aptitude

Q.No: 95
2436134
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Amit, Sunil and Deep contract a work for Rs.2431. Together Amit and Sunil are
supposed to do :—3 of the work. What will be Amit's share if Sunil's share is i% more

than that of Deep.

mﬁa,@ﬂsﬁrmﬁzﬂlmﬁwmrﬂwmlmﬁasﬁr{ﬁﬁﬁwwmﬂ%
w €1 AR g A REdah A ¥ S afaw § o afa A Redards e geie

816
A

816

867
B

867

848
C

848

748
D

748

Correct Ans : B
Subject : General Aptitude

Q.No: 96 What is the sum of the digits of the least number, which when divided by 12, 16 and 54, leaves the same remainder 7 in each case, and is also completely divisible by 13?
2436148

T DI G F ST BT AN 1 B PR 12, 16 3R 54 F farifera g9 R 7 v s 31 9k 95 W 13 F gofa: Ay 1

36
A

36

27
B

27

9
C

9

16
D

16

Correct Ans : D

Subject : General Aptitude

Q.No: 97 Two numbers are in the ratio 6 : 11. If their HCF is 28, then the sum of these two numbers is:

2436150

B B 6: 11 & U | T Al S9! AU, 28 §, o 39 & Tomsh 31 A 7

476
A

476

420
B

420

443
o

443

392
D

392

Correct Ans : A
Subject : General Aptitude

Q.No: 98 When n is divided by 4, the remainder is 3. The remainder when 2n is divided by 4 is?
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2444616
N4 F U A W 3 AT A 21 2n BT 4 F YN & W 347 99 g2

1
A

1

2
B

2

3
C

3

6
D

6

Correct Ans : B

Subject : General Aptitude

Q.No: 99 A certain number of two digits is three times the sum of its digits. If 45 is added to the number, the digits will be reversed. What is the sum of squares of the two digits of t
2444627 ,ymber?

3 ol 3 U T Sem Iu% sl 4 3 6 T §1 9l 30 e # 45 Sie Y o sid Iae S & | W 3 T oIl Il BT AnThd 4T 82

41
A
41
45
B
45
53
c
53
64
D
64

Correct Ans : C

Subject : General Aptitude

Q.No: 100 What should come in place of question Mark ‘?’ in the following number series?

2444661
2,4,7,35,42, 462, ?
Frefafed e gaa & wwA R 27 & WM W R SIwm?
2,4,7,35,42, 462, ?
5016
A
5016
470
B
470
4712
o
4712
475
D
475

Correct Ans : D

Subject : General Aptitude
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